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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the follovgring questions as directed :

. 1x10=10
Aot PR To ey e o
(a) What is reservation price?
T3S I WA & @2

(p) What do you mean by product
differentiation?

71 Reemesa et R gm0
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(2)

(c) Name the first economist who attempted
to provide a systematic definition of
perfect competition.

e AR comesea < e
wmﬂ@ﬂgmﬂwﬁ%?

(d) If price < the minimum AVC, what will
the firm do?

i 7w < KA T8 RIS WR A, 9
ofddes R 3R

(e} The demand function of a monopolist is
Q=1/5(55-P). If P=50, what is price
elastmxty of demand?
qF G AfEEe b‘rf?{‘ﬂ T
Q=1/5(55-P. M wN P=50 =, Sf¥R
Rfgrerrer Ram 232 |

() Fill in the blank :
YRR EIR
MRPL =MPPL ‘X -

AT TS AT SeAmmAeTel = AN
@S AR TerReel X

(99 What is insurable risk?
SRS T e 2
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(3)

-(h). What do you mean by Pareto’s
optimality? : Cotae

(IEACHR AT 0 4197 T ﬁs iﬁr ?
~(i) What is project evaluation?
T o P e [

() Who advocated the interpersonal
comparison of utility concept?

e T %mﬁm W zﬂwz%r A
weRERRE 7
2. Answer the followirig questions :  2x5=10

(a) .Write the dlfferences between sellmg cost
and production cost.

ﬁ@ww@wwww

NAFPIR o |

(b) Differentiate between“ personal ;dlstri-
bution and functional dlstnbutlon

m%rﬁwqw@mwmmﬁmw
- e e Rem AT

(c) State the main limitations of Pareto’s
criteria for welfare economics.

R o S ARGR T ST
TEI
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(4)

(d) Write the two conditions of equilibrium
in a perfectly competitive industry.
'TﬁzﬁﬁmﬁhaMW$sxﬁnﬁzmwﬁ'ﬂaﬂmxs*~ﬁn
foram

(e) Distinguish between rent and quasi-rent.

Al SF Y- [ SRS S -
el o | E

3. - Answer any four of the following questions :
5x4=20
oo 2T R G o T o«

(a) Why a monopolist does not "have- a
unique supply curve?
6ﬁﬂﬂ3m'3ﬁﬁﬁﬂﬁf$ﬂfﬁﬁ§*$ﬂﬁ aipic e
"HQIIFF ?

N

(b) DlStlngulSh between . percelved and
proportionate demand curve.

ﬁﬁhﬁwa'mﬁbn SifCIsd vnaﬂﬁ%¢ L)IEY] evma
_ﬂﬁﬁ5ﬂﬁnvm&nf%maaﬁnl

(c) “Profit is the reward of the entrepreneur
‘ for beanng uncertamty Explam the
statement.

“offs tzex w9 N SfRoTeR
TR 17 SRTB! man 9 1

I
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(5)

(d) What is payback - period method of
project evaluation? Write the limitations
of payback period method.

oFH TR A SRR G snza &
2150 TR TEfSY TwerHz for |

(e} What is price discrimination7 Is price
discrimination soc1ally Jusuﬁed? Give
reasons.

wﬁﬁﬂqﬁviwmmmv
e faan |

() “Rent can arise only if the supply of
a factor is less than perfectly elastic.”
Explam
‘AR @bl %onw o ﬂ*"’ff E{SMERA]
|-, cs%ﬂquﬁi’amn”w
L

4. Answer the following questions :

O PR T o

(a) Explain under what condmons can a
monopolist discriminate between different
buyers in fixing the prices of his product. 10
R R weEe oo RS IR qum
I R @oR Twe (ody e
AN 7 7Y M 0
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(6)

-Or / 9T

Why are rnonopoly price and' profit
higher but output is ‘lower than in perfect ,
~competition? Discuss. : 10

GIFCHHAT IHTS FIR WA AIF 1S Tf ARt
TEReE B T e T AR ﬁw ﬁs:
T 7 S |
(b) Explain the nature of supply curves of an
industry under increasing and decreasing
cost conditions. B ] 10
SN wF RN W= IS GO TR
QI (FIA (S I 91 \
. Or/ 9l
Determine the equilibrium condition of
-“a firm under moriopolistic competition
*+  in the long run. - 10
GFRTR fSPerae IET ﬁw g3
A1 STy SR Ay 90
(¢ Critically disciiss -~ the marginal
productivity theory of distribution. 10
R 2if¥e Beotrmiire] SR THICTARE
IROT ABRGRT |
Or / 9l

State and explain the Ricardian theory of
rent. What are its drawbacks? 10

R ey ey forar o A 01 TR
SraerTE & R 2
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Discuss in brief the {:ontributions of

Kaldor and Hicks to the field of welfare

economics. 5+5=10
oM SRy CRae IRRCR W RIS
SH SYLF A F9 |

Or / <[l

The expected life of a project Xis 5 years
and it earns profit ¥10,000 after
deducting depreciation, taxes and
interest. Another project Y earns profit of
¥ 18,000 in its expected life of 6 years
after deducting depreciation, taxes and
interest. '

The net investment on the two projects
X and Y are ¥25,000 and ¥36,000
respectively. If the required rate of return
is 12:5%, which of the two projects will
be selected?

9Bl 2FF X doie KeE 5 I T 2
TR R R S, T F [© T =S
AS T 10,000 I SqH B 4FW YT
eE 6 I WE X e [{R [I ©5H,
W U I[© FER IS 7S FI 18,000 H |
X % Y [ 2R AW et R 7
=y T 25,000 5 9F 36,000 B
M @D AFE IR AeIfe ferm =S
125 o4 W, (M0 o fdifoe s 2’3 ?
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